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cle would not con-titutn a coneinuun. ntthout loa- q! qunorlitty. 2l
assume that 1‘ Ll tho arc. Acco:ﬂinq to proporty 3°, the comm-

on point of the arc 1, and the circle |w| = 1° is a ‘2ero of

the circle . Iwl = 1 only one zero 'o' therefote 11 munt issue

tion dl(w), and it is well known ([9], P As) ‘that at the doub-

le zero four arcs of (24), . equally spaced at an angle of ; g-,.

meet. Two of them are arcs of the circle Iwl =1, and conse-

quently, of the remaining two, only one may enter the 1nt0t1°t .f

of the circle. This must be the arc 1 . S5 A

Note further that the union of tho renaining arcs ‘12,..., lj
is an empty set. For otherwise, the following Gl..l would be
possible: a) one of the arcs Lyr vens lj has a common end o? *
¥ w, with the circle |wl = 1, 80, according to proporty 3 ﬁof
would have to be a zero of the function k(w) on the ‘citclq

jwl = 1, which is impossible since the only zero of this fung- W
tion on Iwl = 1 is the point w_; b) any of the arcs 12....,1lja

has a common end with the circle |w| = 1 at the point w_, but

then, at this point, more than four arcs of (24) . would A’ 'm.ot.,,f
which contradicts the fact that w_ 1is a double zero ot Juithe

function ok(w) on the circle |wl = 1; c) the end . & of the
_arc 1,, 1lying in the dics Iwj < 1, is also an end of any of
the arcs 12,'..;, 1j and then, according to pzoperty 3%, quch
point ¥ is a zero of function (23); but, as was noted earlier,
each zero % of the function Wk(w), 1lying in the disc Iwl < 1,

is the image of some zero % of the function J/(z), lying NS

the disc )zl < 1, so & is an interior point of the image of

the disc E under the mapping f, and consequently, it cannot -
lie on the boundary of this domain; d) none of the arcs 1,, «ves

lj has common ends with the circle |wl =1 and the ' arc 111

this case is also impossible since, . then, the union of the arcs i
1ivlyr veny lj along with the circle |wl = 1 would not consti-

tute a continuum, 1i.e., property 4° would not hold. :

Consequently, we have proved that the point "o' w6 = %, is.
the end of the only cut 1 in tho image of the disc E under the
mapping w = f£(z) = -F(z), where F 1is an extremal function in

the class SR(M) ' for M'> Mo.

the function di(w) given by (23). . Since thil function has on
|
from the very point. The point w 18 a double zero of the func~- &

























